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General Instructions

e Payv your undivided attention to the instructor when instructions are being given.

e You are required to put your signature on the answer sheet.

 Write your name and seat number on question booklet.

e You cannot re-shade the answer once you have shaded an answer. In case you shiade more than
one letter for the same item, your answer will be treated as wrong.

® Usc ol mobile phones and calculators is strictly prohibited in the exam hall

e After you have completed your test, submit your original answer sheet along with the question boaklet.

In case you fail 1o submit the question booklet, your name will be remaved from the list of candidat
you will be treated fail and legal action will be taken against you.

e Below are the further details about the test:

Torwal MCQ Test Time Marking on Wrong/Missing Rough Work Sheet
Items MCQ items
100 100 minutes No negative marking on Rough work sheet s attached,
wrong/missing question

Do not separate it

PART-1 (ENGLISH)

Passage for reading comprehension
Read the following passage and answer the questions set below it:

Work is worship. Work is rewarded. Great people of the world worked hard. Most of the living
people, who are true to themselves, work hard to make their living, provide for their families and
help the poor and needy relatives. They follow a best principle of sclf-help. The same brilliant
examples we find in the life of some greatest people who followed Islam. Hazrat Fatima (R.A)
fetched water, ground com and swept the house. Caliph Omer bin Abhdul Aziz (R11) refused 10
hire a servant o help his wife. At table, Caliph Mamun-ur-Rashid (R.H) served not only hamself

bur also his guests. Sultan Nasir-ud-Din carned his living by making caps, and Empecror
Aurangzeb by transcribing the Holy Quran.

There are examples more than that of sclf-help in importance and worth. Hazrat Omer (R.A)

once carried on his shoulders a large sack of flour for a needy family. Hazrat Ali (R.A) laboured
in the garden of a Jew and gave away his wages in charity.

Answer the following first ten (01-10) questions from the above passage you have just read:

. Which of the following may be the most suitable tapic or title af the above passage?
A. Honour of labour B. Dignity of work and scll-help
2. In what tenses the above paragraph has been written?
A. Past Perfect Tense, Past Continuous Tense
C. Past Pertect Continuous Tense, Past Perlect Tense
3. Meaning of underlined word “feiched™ is

A. went to where something was and brought it back
C. brought something along
4. It appears from the passage that Hazrat Ali (R.A) was

C. Doing good things D. Serving one’s self

B. Present Indefinite Tense, Past Indefinite Tense
D. Past Continuous Tense, Present Continuous Tense

B. sold for a particular price
D. carried something and left is somewhere

— /'
AL hospitable B. pious C. wise D. generous '/
5. The underlined word “ground” is
A. anoun

B. an adjective C. an adverb D. a verb
6. Khalifa Omer bin Abdul Aziz (R.H) refused to hire a servant to help his wife because
A. His wife was strong enough to do her work.
B. For privacy, Caliph Omer (R.H) did not like to have a servant at home.
C. Caliph Omer (R.1) wanted his wife to do her work by herself.
D. Caliph Omer (R.H) was very religious. Therefare, he had fear of God.
7. The underlined word “living™ means
A. a way or style of life B. money 1o buy the things that you need in life
C. a place to live in D. cost of maintenance of life
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S The ondenlingd word “tanscobing ™ means

A revordimg something e wnitten taom o the angina)
n ll.mxl.um_.' from one Lanpraye toanothye |-|ll)‘ll1l)'_t'

& copyving worndd lon wortad Tronm R AN I

l' .

O 1 he underhned phiase Tpas e s ay wapges™ means

A pave tepular amount o carned money as i o pood deed
amonnt of cammed money as a loan

expresainge wha somehody s wotten waang casy words

ave reenla
1“ :v:l\l‘l ol debr oned o somehaody )
D pand camed money o somebody m by’ hee mheritanee
10, Peaple of how many reliprons are mentioned in the passage?
A, one 1. two Cothree
Note: Meanings of underlined words (synonyms and antonyms)
meanings in the pgiven sentences

Synonvims

UL He was abways willing to guide and help him.
AL very happy B. ready to help &

. gencrous and nice
12, They decided to remain calm.

Al leel B.oexist . slay
13 Thank you very much for sueh Kind words,

AL pentle . sweel . pood
140 1 guite agree with you.

AL lrly B. readily C.simply

15 You have got a strong point there.
AL mostimportant idea or apinion B
C. the purpose or aim of’ something D.

Antonyms

—_—n

Lo, Both tricnds used parallel path to reach their destination.

AL dithicult B. similar C. divergent

- an important picce ol advice
a particular detail or lact

D, four

nre based on their contextual

D. kind and friendly
D. live
D. Iriendly

D. completely

D. aligned

17, Pakistan and India have hostile relations with cach other due to Kashmir 1ISsue.
AL negative B. inimical C. friendly
I8. Aceelerate your pace to meet the deadline.

AL speed up
- Her eandid remarks impressed the higher authoritics.
AL blum B. puarded C. sincere
Although she is intelligent, she is proud
AL ignoram B. dull

B. supervise C. slacken

20.
C. arrogant

Error detection

21, 1L1 will go to bazaar, 1 will buy a new pair of trousers for you,
A B [ &4 D
22. 1 would like 1o know where do you live.
A B C D
23, Tell me what is your hohby.
A B C D
24, Bees make honey so we eat.
A B € D
25, As weather being warm we stayed in.
A B c D
Preposition
26. Qasim wakes up suddenly — the night.
A.on B.in C.at
27. He has done a great service  me.
A. for B. by C.to
28. You have enrolled — more than one class.
A.on B. into C. for
29. Khalid forgot to wish me my birthday.
A.on B.at C. for
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D. aggressive
D. loosen
D. controversial

D. smart

D. uopn
D. from
D. at

D. upon



A. For B.In C. By

30. serions injuries, he managed (o play well in the last match.
D. Despite

Sentence Structure

31. By the time | picked up the phone. ]
A. they had rang of T B. they had rung off C. they will have rung off
32. s . Lwill explain how the equipment works.

D. they rang off
A “..:'“-\‘ wanted me o B 1U you will want me to C. If you want me 1o

: _ D. If you had wanted me to
33. Someone s moving downstairs. We had better the police,

AL called B. call C. will call

34, 1'm never on time,

D. calling
AL Am D “B.aint 12

C.am1?
35. Go back the way that

D. aren't 1?

e from.
. You have come B. you came C. you come D you will come
Correct spelling
36. A, welderness ;
_‘-; [:: :l\i:ll«i-.,mr.\\ B. willderness C. wilderness D. wildirnes
e .\. S.h.'.‘kc:\ ) B. h.;\;l:xrdous C. haserdus D. hazarduce
39. A. Shakespear B. Shakespeare C. Shakspicar
40. A. playwrite \

D. Shakespeer

B. pleywright D. playnight

C. playwnght

PART-II (MATHEMATICS)

4\.'\\'\131 fraction of PKR 1 is 50 paisas?

A. _‘: B.: c.:; D.Lﬁ
42, The value oflog,‘—f = =
Al B.; 3 D.2
43. The value of tant5® + cot45® =__. 5
2
A3 B.2 C.1 D.-1
44._Thc improper fraction in the following listis....
AS B3 Cz D.2
45. The fcan be expressed into mixed fraction as...
A1s B.2: c3s D.%%
46. The value of (21)° — (19)* = =
A. 20 B. 40 C. 60 D. 80
47. The value of 25% of 40 + 30% of 60 =
A. 10 B. I8 C.28 D. 38
48. The missing valuein?—3= f i5....
1 : 2 H
A.g . B T C.3 D.5
49. The value of f-rf - s e
Al B.2 C.4 D.8
50. The value of% X Ix X "; = d
A. 0.1 B.0.2 C.03 D.0.4
51. After reading 39 of a book, 40 pages are left. The number of pages in the book is...
A. 160 B. 165 C.170 D. 180

52. A drum full of rice weights 4016 kg. If the empty drum weights 1334 kg. th weight of rice in the
drum is....
A. 2682 kg B. 2782 kg C. 2882 kg D. 2‘)32 kg
53. The difference between largest 3 digit number and smallest 3 digit number is....
A.R79 B. 889 C. 899 D. 989
S4. The present age of Sahil's mother is three times the present
add to 66 years. The present age of Sahil is...
A. 12 years B. 14 years

age of Sahil. After 5 years their ages will

C. 16 years D. 20 years
55. The two numbers are in the ratio 5:3. If they differ by 18. the required numbers are....
A. 45,27 B. 50, 32 C.40.22 D. 30, 18

56. Maximum number of right angles in a right-angled triangle are...
- - ~ N1
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of each side o' the portrait is

r "lf;‘\‘. | B. 14 em C.15¢m D. 16
5K,/ was purchased at Rs. S0000 and " - dafem
e gt and sold mCR._s,. 40000. The loss in percentage is...
59 The value of base in binary number system is. . = .23
Al B. 10 C & D
60. The decimal number 34 can be expressed i i -
Mo xpressed in binary /ste
A. 10010 B. 10000 c 1o T M5, orotol

PART-1I1 (GENERAL KNOWLEDGE)

Current Affairs/ World Knowledge
61. The capital of Iran is:

A. Kabul B. Tehran C. Zahedan D. Taftan
62. The Shrine of Khawaja Ghulam Farid (R.H), is located in:
A. Ranikot B. Rajanpur C. Ranipur D. Rawalakot
63. Arabic is not an official language of:
A. Kuwait B. Qatar C. Bahrain D. Turkey
64. Who authored *Long Walk to Freedom':
A. Karl Marks B. Jawaharlal Nehru
C. Nelson Mandela D. Barack Hussein Obama
65. Which of the following is a landlocked sca:
A. Arabian Sca B. South China Sea  C. Aral Sea D. Ycllow Sca
66. Which of the following languages has most alphabets:
A. Urdu B. Sindhi C. English D. Balochi
67. Tibet is an autonomous region of:
A. India B. Russia C. China D. Nepal
68. Official Currency of Yemen is:
A. Rial B. Dirham C. Di inggi
69. +92 is the country code of: i —
A. Saudi Arabia B. China C. Pakistan D. Kuwait
70. Tomb of Babur: the first Mughal emperor is in:
A. Tashkent B. Bukhara C. Kabul D. Peshawar
71. National Flower of Pakistan is:
A. Rose B. Tulip C. Jasmine D. Lily
72. The Secretary General of the OIC is elected for the period of:
A. 3 Years B. 4 Ycars C. 5 Years D. 6 Years
73. Which of the following uses GMT++5 as its standard time:
A. Bangladesh B. India C. Pakistan D. Afghanistan
74. The land of Kangaroos is:
A. Brazil B. Australia C. South Africa D. Thailand
omen’s Cricket World Cup 2022?

75. Which country won ICCW

B. England C. Australia D. South Africa

A. India
Everyday Science _ o ‘ :
26. Which discase is caused due to the deficiency of vitamin D that causes bones to become sog,
ale? . '
a\n dB“:;llw‘:n B. Rickets C. Scurvy D. Night blindness
A. Benbe ;
“ats are found n following except: .
e B. Butier C. Vegetables D. Marganne

A. Oil . .
78. Amimals that eat nimals are knov':n as.-
A. Herbivores B. Camnivores C. Oqlnl\'orca

79. A solution that can dissolve more solute at a given lcn)pcr:\tun:
A. saturated solution B. unsaturated solution

C. supcrsu(uralcd solution
80. The simplest kind of
chemical reactions is called:

A. compound B. solution C. alloy

slants and a .
both pla D. Insectivores

is called:

D. concentrated solution

matter which cannot be further split up nto simple

D. element

A nuniature portrait of Q)
- uaid ¢ / .
© Azam 1s square and has an area of 256 centimeters syuare. The length

r substances by

I
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&1. The atoms of
s of same element
" wh v i
are known as: ich have the same stomic number but different
VR f

A 1S0mers . N
g7 “A chemical B.1s0iopes C. mamotphy 0. iwol

S arc ; . lwobary

- ,","””pmlnd always contains the same elements combi !
proportion or fatio” 1 the statement ol eols combined together i the =in

A. 4 W . 3
c :j: ::{:3::3;;::1:1:) ofmass B, Law of multiph: proportion
83 Which of the foll :{tfpu,nmn . D, Law of reciprocal prapartion
A Cal oll p g anmal is secondary consumer?
3 Sheep €. Mouse 1. Wall

‘
8:. é\rlrlwng the following, which is not presentin ammal eell”?
.q 5 \;l mcn;:bmnc B. Cytoplasm C Cell wall D Nucleus
g5 When a French bean germinates in soil, a v thiat atructun: is called

ook like structure cimer
y ! c  like structure cmerg!
Hypocotyl . Cotyledons C. Emhryn )] P.‘.hurup'.{:

Islamiat/ Pakistan Studics
6. Th': gavernment of Benazil Bhutto ervprbiet VP05
A. Chief ustice of Pakistan o ’,

¢ Naotional speaker of Pakistan

g7 With Muhammad Al Jinah as Muslims Jeaypue presides
both the league and congress were held at .

A. Pooni B. Bambay (. Caleutta 1. Luckno®

85, Indus water reaty wis signed between which countnes’

A, Indiz and Chini @, Pakistan and china C. Pakrstan und India

89, Pillars of Islam are called:

. Ulamase-alam ¢ Shoorot-e-fslam

A, Atkan-c- Islam
00, What 15 the first month of the Islamic ¢t
3, Muharram

A Shawowa!

woas disraraned fot the secand ums af

B Prewmdent of frakasten
1. Chatrman ol Pakntan
cetiniy, 0F

W far the fint tune. the e
). Pakantan and Afphaniatan
0. Fatnz< [slam

lendar”
¢ Thut Qiddak {). Thul lijyeh

Compufer
9]. Which on¢ of the followng i the highest unit of memory.
A.TB B.GBe i D. KB
92, Which one of the following is the smallest unit of memory.
A TB p.GB * c.MB 0. K
93, Which of the following 15 binary cquivatent (1) of decimal autmber (2000
A Ll 11 B 10100 (& 115001 D. 1100
94, Which of the following is the decimal cquivalent (") of inary aumber (1ny?
A. 20 | c.2 .24
05, Which of the following is the brain of the computes?
A.CpU B. Memoty ¢ ALU D, Hard Disk
is billionth of a second?
D. Gigabyle

06. Which of the followini
B. Nanosecond

A. Microsecont

97. The two kinds of mam memory are.

A CDs & pVDs B, RAM & ROM C. Dircet & Sequential D USB &CD
x of usimg COUNTIF () function in MS Excel 2010158

ys. The correct synt D s et
3, =COUNT IF (Crteng, Ranye)
na, True, Falsc)

C. Terabyte

s COUNTIF (Range, C'niterta) OUNTIF (F
C. —COUNTIF (Vaolue i true, Value if false) . =COUNT IF (Crter F
9. Which of the following function of Fxcel you will use to exuact cubstring ‘Pak’ 1o word
“pakistan™ R
A, =FIND () B. ~CONCAT() C.=LEFT () p. =SUBST RING ()
" Excel worksheel by using: 4
charts Excel workshe g o R T5b

100, We can add

A. Home Ta B. Inscrt Tab

THE END




